Bt = B X

SF5%3831H
N EEANELLABEEH
(BfH:H)
[ ERERRNE B Y= IR EX]
GRBEE)
T EHETEE L“HIEREE [EiEES£ELTHERALTLS, 5,806,291
RIEEEE
RENEESE 5 806,291
(BEEERE)
HARBZE FHFES | 2HIEALE ([ARBENEEMETHY. ERXELAHR 300,000,000
AEEED |BFXOBMELELTEALTWNS,
(£EEMAER 280,000,000M)
ERERICHKTAE=HIZTRETRHET
HY. ERBREZEEEROMELLTE
ALTLS,
(£ZEDMAER 20,000,000H)
THEIFES | LHIERALE |EHEEBICRTA-OIZRETRHET 3,000,000
KEEEXE |HY. ERBZFEEBEEHEOELRELTE
ALTLS,
THEIFES | LHERALE |EHEEBICRTA-OIZRETRHET 2,000,000
KIEEEXE |HY. ERBZFEEBEEHEOERELTHE
ALTLS,
EEEE | BYELE| LHERSE |AXENEEMETHY, BYEES 2,921,793
BiIEE AREEEE [(ICEREZEEOHTHEIALLT, BEEESE
DEHEELTERALTLAS,
EE#ES 307,921,793
RESH 313,728,084
GRBaE)
RENBRESE 0
(BE&E)
EEBEAET 0
BiESE 0
IERRELE

313,728,084




